How PCR works, first principles

PCR utilises short nucleotide sequences (primers) to amplify a specific target DNA sequence. Each primer hybridises to opposite strands of the target sequence and is orientated so that DNA synthesis, by Taq DNA polymerase, proceeds across the target sequence, effectively doubling the amount of the target DNA sequence. Since the extension products are also complementary to and capable of binding primers, the cycle can be repeated after a de-naturation step. Repeated cycles result in an exponential increase in target DNA to a point where there are enough copies of the sequence for it to be visualised.
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